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11. What causes oxygen to move through the alveolar blood capi]laries of the ]ungs?

a. Difference in the O; tension and b. Partial pressure of COz
partial pressure of these chambers
¢. Union of O, with haemoglobin d. All of the above
12. Which of the following is NOT an endocrine gland?
a. Hypothalamus b. Pituitary
¢. Parathyroid d. Pancreas
U3} TR RS, cammaa e is the difference between systolic and diastolic pressure.
a. 40 mm Hg b. 20 mm Hg
¢. Omm Hg d. None of the above
14. Which one is not a WBC?
a. Lymphocyte b. Thrombocyte
¢. Monocyte d. Basophil
15. Respiration in man is helped by:
a. Intercostal muscle b. Pelvic girdle
c. Biceps muscle d. None of these

16. Name the hormone which takes part in the release of FSH and LH from the anterior

pituitary.
a. Growth hormone b. GnRH
¢. Somalostatin d. TRH
17. Excitation contraction coupling involves all the following except:
a. Release of Ca++ from troponin b. Formation of cross bridges between
actin and myosin
¢. Spread of depolarization along the d. Hydrolysis of ATP to ADP

transverse tubules

18. The blood vessels that supply blood to the walls of the heart are called:
- a. Coronary arteries b. Coronary veins
¢. Duodenum d. lleum

19. In the body, both the blood sodium and potassium levels are regulated by:

a. Pheromones b. Aldosterone
c. Cortisol d. Androgens
20. The endocrine gland which contributes to setting the body’s biological clock is:
a. Pituitary gland b. Thymus gland
¢. Pineal gland d. Thyroid gland
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